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- 73297 X910 "Inp 92
The Xin teaches us disqualifications of a Rabbinic origin only

OVERVIEW

The X3 questioned; why was not the 705 of 121 included in the
similarities of 272y M1 MY w1 “vA. The X3 responded that the Rin is
mentioning only the similarities of 13277 *05. The 7109 of 221K is 71N JA.
The 770 writes concerning a v that '717°2 J722) NN 190 177 270)"; there can be
no interrupting act (such as reaping) between the 72°n> and the 71°n1 of the
va. This rule applies only to the 5mn' of the v3, which is the v 9w, If only
the v “0910 was written 721113 and the 77N was written w1702 then 72v°72 it
is a qw> vi. However 112772 79°1nnd% one should not write even the 091
7272,

mooIn anticipates the following question:
(3,89 9713p9) 999 21N XNY DIV PAMD PPN 10 19297 92901 993 NIINT 2) DY 9N

Even though there is also a case of 9217 which is 7109 only j3397%, for
instance the rule that we do not write even the text of the 7121722 03, for we
are concerned that if he writes the 7212 0910 perhaps he will write the

N7 also 722, This 2109 of writing the 921712 ©9W is only 132971, Why did not the
mwn also include this 17 of 2V 12aM> PR among the 2°377 in which w1 °v>3 and 1w
0’72 are similar.

mooIn responds: Granted that there is a case of 13277 721 -
= 13297 N>2) P9I APOY VAN NNIINT 921N A0y DIPNI U

Nevertheless the main 7105 of 22y is 779907 3. Therefore the 71wn which
includes only 311277 2109 ignores 7211, however the main rule of saying

1"921 by N2amY 799 is only 333972, There is no requirement 77077 2 at all, to say
1"92.

mooIN anticipates a possible difficulty and dismisses it.
= NDNNT NNYY DIVN 1PN NIDY 293 DY 9N

Even though that according to 731 saying 1"92 was instituted on account

"The 7N includes the names of the husband and wife, etc. which are inserted into the text of the oow.
? The o910 is the regular text of the v3, which is the same in all P>,
? See “Thinking it over’ # 2.
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of our concern whether it was written m»w%, which is a 7710 requirement.
Nevertheless we are not considering the requirement of w5 among the similarities
between 272y "MW 2wl ", Rather the similarity is expressed by the term X211 791,
which refers to the saying of 1"1192. This requirement to say 1"92 is essentially Rabbinic in
origin4.

SUMMARY

When the X3 said that the Xin is mentioning 131277 *7109, it meant those rules
that are entirely rabbinic in origin, such as saying 1"92. It did not mean those
711277 °710°X that have a Xn>7IX7 origin such as 72177.

THINKING IT OVER
1. Why indeed would the 71wn not include 131277 *9109 that do have an Y
RNIRT2?

2. Why did moon not ask concerning X7 as well?® The reason for saying
1"91 according to 827 is for o1p; that perhaps the 9va never sent the vi. That
is certainly a xn»x7 910911

* See q™w "N

> See 1"7v in 7"ax # 170.

® See footnote # 3.
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